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run_13039058 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Feb 8 03:42:34 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13039058 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13039058 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13039058 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13039058 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13039058 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Feb 8 03:42:36 2012
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run_13039058 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13039058 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13039058 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Feb 8 03:42:38 2012
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run_13039058 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13039058 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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Feb 8 03:34:49 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

ADC-ped

[ 1000 2000

[ADC for FGT RDO=1,ARM=1,APV=1 }

3000

4000
raw ADC

1 1
1000 2000

[ADC for FGT RDO=LARM=1APV=2 }

|
3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

3000 4000

raw ADC

AOBCAped

1000

2000

[ADC for FGT RDO=1,ARM=1,APV=4 }

3000

4000
raw ADC

ADOpgj

0 1000 2000

3000 4000

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]lr|1|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

0

Naiilis

[ ADC for FGT RDO=1,ARM=1,APV=1 }
4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=2 }

1
120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=—
1000 f=——
=
500 f=—
=
U=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
5] = H 5
e = .
Q 3500 F=— cete sacdlcls N
< =
3000 fF=— PR TR A PR aaslba
2500 = U A S .
2000 f/— sohoadbollocllcls N
=
1500 f=— aete S aoo|ba
1000 P=— - v - b e e e PR TR S EREE T EE
= 2
= .
500 s e e B2 B R X EPER ) B8 s}
= 5
0 o e e e e e et
= .
= 1
0 20

[ ADC for FGT RDO=1,ARM=1,APV=4 "}
4000

60 80 120

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 3 .. i i e

10

107

10

10

10




run_13039058 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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